5393

20214E/E BEFVT—MESER(EBA) 42 Td MArKE

pEEs| 3459 HE® |pzguznasivasnsezonts | BEEsk| 63 EEEH 17

EH-EE A3 %84 |HE X 6 = 27.0%
LH B TP AT DS | COSHATY ey |
50 -
ot s X
w0 2l porcnd Nad |
3.0 e - e e
2.0 bbb et - B i B e B
1-0 | | | | | | | | | | |
1-1 2.1 22 23 24 2.5 26 27 2-8 2-9 2-10 \ OHE DPOHE OLE BYOFE OFE
I
] EER(N), BEE(%)
No. BiiBe EH sSD ﬁz $§
5 4 3 2 1 mEE | @
COBEIC. CNETILEOHL I (ARE(E 2T [omkem| osmm | v [seherum
1 |2 -FEBREROA VI VIZEDSEIEEIR 441 0.60 8 8 1 0 0 17 0
H) LELED 471 | 471 59 0.0 0.0
/4
EEERDPAIIVT—avE. 8 8 1 0 0
1 CoszonEsE LKiEiTE 441 1 060 |0 1 471 59 0.0 0.0 17 0
COFETIE., EUBEM - ## - ERLEN 8 6 3 0 0
2 |ggantik 429 1 075 1501 353 | 176 0.0 0.0 17 0
CORETHERBELIIITH—YavE 8 7 2 0 0
3 |miEmIces5E LTI 435 | 068 |01 412 | 118 0.0 0.0 17 0
BEEFPELATEL. COBECHTS 9 6 2 0 0
4 |maomsrmiE 441 1 069 |09 | 353 | 118 0.0 0.0 17 0
:@E#@E&)(:\ 1)@&'?&7;:0\ 271minkAE]211-270min] 151-210min| 91-150min 90minl«;l|7\]
EDbNVEELELED 0 0 1 11 5
5 |xxEEECHELTOIERY. V5 vEEcsn | 176 | 0.55 17 0
TZoomBECBMUTI\BEE R, BESNEBIEDEH
R BETIEMERE, 0.0 0.0 5.9 647 | 294
6 |comEONEELISHICEETEE 376 | 073 |2 10 4 ! 0 17 0
: : 118 | 588 | 235 59 00
COBEEZTTHFFTOLRIESN 6 5 5 1 0
T |zZossmhnie 394 1 094 1—or 1 204 | 204 5.9 0.0 17 0
o 5 e o pma s 8 7 2 0 0
8 |HAmICHIRLT, COBECHRLTIG 435 | 068 |- 215 | 118 00 00 17 0
COBEORBLREOH EOVT, $IEZ | PPBL | BOCI [ PROBL [ HBTES
9 HHEOEZICEELIENEDIFENTT D 4.88 047 ((CI=8) (TR (fFm5) (TR (CI=8) 17 0
(XABRILI-100 . FHIEE HOEENRLNE : : 0 1 16 0 0
¥) 0.0 5.9 941 0.0 0.0
= o L@ & - _ BLTES | PRELL | BLOHELL | PPELL | ZLTES
COREDABERBEDH Z EICONVT, BED | @3 (?é).ﬁs) (B&3) | @A
10 |BhE0ERICEELENEDFENTT H 453 | 0.85 5 7 = 5 5 17 0
(KI-OEABEADH . FHIEEH OB ANRLENET,)
00 235 | 765 00 00
b/
No. EIREX EZ#| % || No. EIREX EZEH| %
- _ - BEDHLPAIBE KRBT BE
7 B0 - 12 T OBZESFTELL 0 0.0 1 ot Lin 1 5.9
Y et EELPTVHEEPEREF-TELL | 0 0.0 T |£26TORNCHREELTELL 0 0.0
7 |0 hnPTERRAELTIELL 0 0.0 7 |BAEEOEEE LDBERECLTIELL 0 0.0
FHDOIZERATI1-ILE B RAPFERICE TR
¥ |éormmELcELn 0 00 | U |sisucEui 0 0.0
. - = = HR{%'%E'PC’;EIG)%%E'
b |$0E B EESOBEEARBLTELL 0 00 || 3 | fmmLrELe 0 0.0




